HAL2.

s

2 IAM A

- +0.25







HAL2.

s

2 IAM A




P [ e

o
H

7t

st

:8.8+|:]:|:]

3
1

8.8 +2




P e

A~
T

2~

-

=
=
=

=

e &

AR DA A AXSIAL L (T, o] YirojE o]z ]
A Zp2]ofl A W SHAL L)

o} O
EO

2
3= +0.6
5

bl



2712 ehfAl 2.

5—+0.6




4
3.6x04+1=
5




22 m €] A ol 27} Uk T FoIA 0.8mE ALBELT Ll
sl 47, @97t BP0 o] Zp T @ Aol ZhA
dlo]me] Zol= 2 m el oAl

8 8
@1—5111 @ 0.6m @1—5111 @ 0.8m ©%m



SHA 2.

stof, = o

:[L

Lo
U=

o
p i

3 el

Q~@H Ae ALt

9.

1
2

® 0.23+4

© 51=+1

4
5

@ 3.2+

3
5

+ 2=

© 4.5




F2 Anke 7}

14
25

13
25

12
25

®

11
25



11. vae AXtstA L.

§ x 16+ (255 +05)
- Xx16+(2— +0.55) -
8>< 6 20+

]




12. a2 HaA At A2 o= AR A2AL,

1 1 5
© 3; @9 ® 1Z @ 95

\
©
I



33+ |+ |=]

3
5

>+6.4+1

3
1

3.3+ (3.75 -




14. da& AAtsA L.

2 7
4-0. 1- ( 2 - 1—) +0.6
) 0.75 x 5+ 3 0

11 1
: — 4.1 4. 4—
@ 6.85 @ 655 ® 4.18 @ 4.08 © 45



LR IAHM ALTSIA L,

3
5—=%x0.6=+
5

(1

- 4
2+O




16. He& At 242 e 2.

2 2
4— .9—7)><2+0.5
5+(0 5




TIHA L.

O
=

31><1
' 3

4
)

© 8

— ™

@) (8% - 3.1) X

2
92
©3

® 9.9 9=

@ 89

D 1.9



18. AN AWt 2 AVH A2 7|58 240,

3 7
3.6+ = x2 12 +3.6

@) ' TR © 82
2— +54+4 4--+02

© 255 +54+ @ 370

&=
=%
D L
=%
5 R
=%



il

olJ
i

@ 2 ® 3 @ 4 ® 5

D1






21 g gl ozt 3] em? 4 o), olE

TS L.

16
@ Zﬁ Cc1m
@ g cm

8 15
) 11T7cm ® ﬁcm
@ ng

~-2.38cm”



e, Az, 4R A2 qhel 158 47A 2] 277} 77
H4E Soi71A) shel i Btk ©+0+©9) goE FBE A

FAAJAY7?
1 3
© |2
1@ 2|4
2 1 ® |1

rlo rot



AAY7F?



Z
or

7t U =7+ -4+ 7} x6

1
3

24 %




25. of=ido] Zol7f 2.4cm ©]AL, Eo]7t 1%cm A At & 2] W ol7t

3.15cm? YUtk o] ArelES] S| Zole B om 1A 242
UERH AL L.

a = cm



